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Question 1:

(8Mark)

Objectives: This question is related to capacitance of transmission line
Determine the capacitance per phase per meter for the overhead line configuration
shown in the following figure. Assume the line is uniformly transposed and the

conductors have a 1 cm radius. (&, =8.85x10™"2 F/m)

50cm
]
O O
50 cm
i >0l
4m '
l o o : o o
o) ‘ 0 ‘ olo
Question 2: (12Mark)

Objectives: This question is related to performance of transmission line

A 200-km three phase line has a series impedance z = 0.05 + j0.5 Q/km and a shunt
admittance y = j6.4 x 10 S/km. At full load, the line delivers 350 MVVA at 0.9 PF
lagging and at 400 kV. Assuming the line is medium, calculate the:

1)
2)
3)
4)

ABCD parameters
Sending end voltage and current (Vs and Is)
Percent voltage regulation

Identical shunt inductors are connected at both ends of the line during light

load providing 80% compensation (the inductors are removed during heavy
loads), calculate the percent voltage regulation of the compensated line.

Good luck
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